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QUESTION 1
What shapes normally represent a use case? (Choose three)
1
Use Case Use Case Use Case
Mame Mame Mame
C.

B.

Use Case Name

(]
Lise Case
Mame
Use Case Mame
F.

D. E.

-6

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F

Correct Answer: ADE

QUESTION 2

What does an activity contain? (Choose two)
A. edges

B. nodes

C. states

D. classes

E. lifelines

F. messages

Correct Answer: AB

QUESTION 3
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How many of the three incoming arrows to the diamond shape (as depicted in the exhibit) must provide values for the
diamond to have an effect?

A. none
B. one
C. two
D. three

Correct Answer: B

QUESTION 4

What punctuation denotes the criteria for values flowing along arrows outgoing from a decision node?
A. braces: {}

B. brackets: []

C. note symbol

D. parentheses: ()

Correct Answer: B

QUESTION 5

How many of the three outgoing arrows from a round-cornered, solid-line rectangle (as depicted in the exhibit) will
provide values at one time when the round-cornered rectangle finishes?
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A. none

B. one

C.two

D. three

Correct Answer: D
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